(5x—y+3)+(Bx+2y—-4) =ax+by+cLd W, a+b+c2 F2?

®-4 @-2 B4 @  ©)s

B ‘
(bx—y+3)+ (3x+2y-4)

=bx—-y+3+3x+2y—4

=8x+y-1
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a+b+c=8°|t}.
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(Ax* =3x+1) = (=x®> + Bx+4) = 3x* + 2x+ C °|X A, B,C 9] &

247} 9 35 AL

® A=2B=-1,C=3 ® A=4,B=-1,C=5
® A=4,B=-5C=-5 @ A=2,B=5,C=3
@A:2,B:—5,C:—3

S5 ‘
(Ax? =3x+1) = (=x* +Bx+4) =3x2 +2x + C

Ax? —3x+1+x>-Bx—-4=3x>+2x+C

Ax> + x> -3x—Bx+1-4=3x>+2x+C

A+1=3 ~A=2

-3-B=2 ..B=-5
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A= (x+5y) - (-2x+3y)
=x+5y+2x -3y
=3x+2y
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= bx
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 olxfago] 2o 9o nz oj2h4jo] ohc,
@ x(4x—-2) +5=4x*> - 2x +5 = o|zpA]o[T},
® 4x? - bx — 4x* = —bx

= At st ool AAH.




9. A (5x%-3x+4)+ (22> +x-1) & 3] 5HA?

® 2x2-5x+6 @ 5x2-2x+5 ® 5x%2-4x+2
@7x2—2x+3 ® 7Tx*-3x+6

B

(5x2 =3x+4) + (2x2 +x - 1)

=5x2-3x+4+2x2+x-1
=T7x2-2x+3
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13. (Ax® -3x+1) = (=x> + Bx+4) = 3x> + 2x + C °llA A, B, C ¢

w@H2?
®A=2,B=-1,C=3 @ A=4,B=-1,C=5
® A=4,B=-5,C=-5 @® A=2,B=5C=3

@A:ZB:—S,C:—?)

B ~

(Ax® =3x+1)— (x> +Bx+4) =32 +2x+ C
Ax? —3x+1+x>-Bx—-4=3x>+2x+C

Ax? 4+ x> —3x-Bx+1-4=3x>+2x+C
A+1=3 LA=2

-3-B=2 .. B=-5

1-4=C L C=-3
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15, (4x®=2y+1)—( )=-x>+3y—-4 A () ol &t

rlo

® -5x2+5y-5 @ -5x2+y-3 ® 5x2+y-3
@ 5x2+y+5 @5x2—5y+5

( )= (4x®> =2y +1) = (—x* + 3y — 4)
=4x>-2y+1+x2-3y+4
=5x2-5y+5




16. F oA A, Bo tiato] AxB=A-2B 2 A 14} A = x2—4x+2
. B=x*+3x-5 °f tste] (A« B) « B 5 1tds] 5t7?

O -3x2-16x-22 (@)—3x2 —16x + 22
@ 2x%2 - 14x + 21 @ 2x2 - 15x+22

® 3x% + 14x + 22

B ,
(AxB)*B=(A-2B)-2B=A-4B°|E&

(x2 — 4x + 2) — 4(x® + 3x - 5)

=x%—4x+2-4x* - 12x+20

= —3x% — 16x + 22




17. 5 ab ol tHoto] x— {5x-2(x-3y)} =ax+by D W, a,b & F=
77} Fshelat,
D a=-2,b=5 @ a=-1,b=6
®a=2b=6 @a:—z,b:—6

® a=2,b=-6

€8 «
x—{b5x—2(x-3y)} =x- (5x—2x + 6y)
= x— (3x + 6y)
=x—3x -6y
= —2x — 6y
coax + by = —2x — 6y
et g = -2,b = -6




D x-y @ 2x-y ® 2x-2y

5x— [3y—{x-(2x-y)}]
=5x-{3y—(-x+y)}
=5x—(By+x-y)
=5x—2y—x=4x-2y




19. 2x-3[x+3y-2{x+2(—y+x)}] =ax+by W, ¥+ a, bl
thste] a - b °] GE2?

@ 7 @1 ®2a @ 65

&8 ~

2x-3[x+3y-2{x+2(-y+x)}]
=2x-3{x+3y-2(x-2y+2x)}
=2x—3(x+ 3y —2x+ 4y — 4x)
=2x—3x—-9y+ 6x— 12y + 12x
=17x - 21y

ca-b=17-(-21)=38




20. ~da-{3a+5b-20a-2-[ )} =-a-1p 2w, [ |

Qbofl dote A2?

@ -3b-2a @ —-b-4a @b—Qa

@ 2a+3b ® 3a+3b

B

~da-{3a+5b-2a-2b- )}
=—da-(3a+5b—-2a+4b+2 )
= —4a-3a-5b+2a-4b-9 |
—5a-9-2  |=-a-11b

2 ]=b-2a
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O -2x-y @ -2x+y
@x—l—Qy ® 3x+3y

@ x+y

3x—2{x+2y—(y—3x—|:|>}
=3x—2(x+2y—y+3x+|:|)
=3x—2x—4y+2y—6x—2|:|
—5x-29-2 ]

= —T7x - 6y

[ J=x+2y




22. (5x—2y)(-3y)E Xto] olH?

D -15xy - 6y? @ -15xy - 5y? @—15xy + 6y?

@ 15xy + 5y? ® 15xy + 6y?

(5x = 2y)(=3y) = 5x x (=3y) + (=2y) x (=3y)
= —15xy + 6y?
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24. -2x(x*+3x-1)=a®+bx*+cx¥8 W, a+ b+ F2? (H,a,

b,cedF)

—2x(x? +3x—1) = —2x3 — 6x% + 2x
a=-2,b=-6, c=2
La+b+c=(-2)+(-6)+2=-6
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